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_q | 2% ' , 2 7 1k
S 9%"%1 A LR S B s R é»gg’ %)
1 | 100 101.82 | & 101.87 | & 123.30
2 | 489 232,788.69 | & 232,801.19 = 240,255.27
3 62 3,502,404.00 % 3,495,438.00 % 239,460.38
y 22 6,492,937.00 % 6,493,493.00 % 235,378.67
5 11 326,849.81 % 376,841.’}5 fg? 161,981.89
8 4 75,231.69 | & 74,553.56 | % 66,129.66
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t =5
st a | b | M 4 | Xk
5§13
1 | 100 101.76 A
2 489 244 ,134.81 % 1.016
3 62 252,549.87 % 1.055
4 22 251,363.19 - i 1.068
5 11 161,320.L4 = 0.996
8 4 66,207.87 % 1.001
t = 10
1 100 101.77 =
2 489 235,186.81 o 0.979
3 62 233,469.81 s 0.975
4 22 235,610.69 & 1.001
5 11 158,783.12 a 0.980
8 I 65,383.91 o 0.989
t = 15
1 100 101.77 2
2 489 234,092.87 e 0.974
3 62 231,644.75 | A~ 0.967
I 22 230,478.50 a 0.979
5 11 158,421.00 = 0.978
8 y 65,485.28 Oy 0.990
t = 30
1 100 101.83 "ty
2 489 233,464.56 s 0.972
3 62 229,759. 44 =y 0.959
4 22 230,508.87 o 0.979
5 11 159,322.62 “y 0.984
8 y 64,671.15 = 0.978
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t = 60

anl ey wt 8| 202 | i
1 100 101.88 A
2 489 233,455.31 A 0.972
3 62 229,754.62 o 0.959
4 22 230,246.44 - 0.978
5 11 159,318.69 n 0.984
8 4 65,621.50 Cu 0.992
t = 120
1 100 101.77 s
2 | 189 235,176.56 - 0.979
3 62 230,009.56 o 0.961
4 22 230-,796.81 s~ 0.981
5 11 159,034.00 & | o0.981
8 oy 65,623.50 A~ 0.992
t = 300
1 100 102.15 o
2 489 234,042.06 & 0.974
3 62 230,820.94 3 0.964
4 22 231,217.81 -y 0.982
5 11 158,874.81 A& | o.981
8 4 65,261.36 a 0.987




